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= 216,000
i 452,374
01 Al&H| 715,000 360,000 355,000
OW=BUHEZAIE 715,000,000 715,000
2 51,268
= 214,500
= 449,232
03 Al&=R0HHl 5,000 0 5,000
OW=BUHEZAIE 5,000,000 5,000
= 358
= 1,500
i 3,142
W= EE A 50,000 30,000 20,000
= 15,000
2 35,000
307 S12t01& 50,000 30,000 20,000
= 15,000
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FA: s
B W2 (52D
¢l JI23H (s8) (etel: =3
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
—=SAIEYH 1,000,000 1,000
—ARASHEINH(SE2S) 1,000,000 1,000
—ggd 2 500,000 500
—2ASNR MA 200,000 200
—JIZAMNRES 7 2,000,000 2,000
—J|Et==&H| 2,000,000 2,000
O= 2l 4,500
—AZIAZ22GE 20 A 4,500,000 4,500
202 O4Hl 22,162 27,216 A5,054
01 =W 22,162 27,216 A5,054
OJlzd RN
120,000 * 199 * 128 * 90/100 * 90% 22,162
405 KHaHFESHI 430 1,500 21,070
01 T =SS HSHI 430 1,500 A 1,070
At 250,000 * 10H 250
O2Xt 180,000 * 17K 180
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